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Question Number : 1 Question Id : 4771877949 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement regarding growth, development and

maturity of the child
Options :

Development refers to growth as well as behavioural changes

1.

Growth refers to structural and psychological changes

qTZ ¥ HTAATCHT AT AT (HF q2H
2.

Biological and environmental factors influence development
- St arfor wataeefty ges Ay 9o sar

Maturation refers to the emergence of an organism’s genetic potential



Question Number : 2 Question Id : 4771877950 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the Development Theories given under List-A with their basic aspects

given under List-B

AT — o S e o fargiar=t AT - 7 s s ST g
Fegeft

Lizt- A List —-B
el - qaT -
(Development) (TT) (Theme) (H=T FeqaT [ H=T [A97)
A} Erikson's Psycho-Social 1)  Depends on concrete and abstract
Development thinking abilities
BT AT FH =TT FrA =T
T AFE==T g% — AT T ARG ATAGA AH
B)  Piaget's Cognitive Development 11)  Depends on experiential learning
C)  Carl Roger's Self Development 11} Depends on universal ethical
.. principles

AT ATd® deaia? Aqdad AqT
1v) Depends on the result of child
P
interaction with his social

environment

HAT=AT AT=AT ATHISH
ATATFLTST AFAAT 797

Choose the correct one
Iy 397 Ha=T
Options :
A, Baav, C-11

1. ®

A-1, B-1, C-m1
2. ®



3@ A-iv, B-1, C-11

A, B-iwv, Ca
4. %

Question Number : 3 Question Id : 4771877951 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Erik Erickson’s ‘Paycho-Social Development Theory'. a student of

Class IX 1sin this stage of erisis

Options :

Initiative Vs Gult

q\-r_"“ ETE Eqﬁa S EERL iql} T
1. %
Industry Vs Inferiority
oo RO i c
SERITT T feg HlIAE2d]
2.
Autonomy Vs Shame
ATl [deg AT
3. %

Role Identity Vs Role confusion

R Aed Eeg ARHT T

4.



Question Number : 4 Question Id : 4771877952 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following, identify the external factor. that influences Child

Development

GTATATH] AT [AFTHTET TR F2017 aTg] 92 Aled]
Options :

Physical environment

T ATaTa70]
1. ¥

Hormones

2.
Intelligence
_ﬂ\%ﬂ al
3.% F

Emotional maturity

4, ®



Question Number : 5 Question Id : 4771877953 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following identify those that are more helpful to teacher to provide

adequate learning experiences for every learner according to their

individuality

AT F=ETATAT AT ATHHATIAT ST ATA 20T [STAFAT ATIH

IUATH LML GTATerdohl F197d ATed o Alear.

Al Ability grouping

AT e

B) Adjusting the curriculum

ATEFHHTT AHTE ST

C} Adjusting the methods of teaching

fereT Ty eI A

D) Proper knowledge of the individual's potentialities

=41 gaa79 7 T4

Choosze the correct one:

Options :

AB, D
1. ¢

A.C.Donly

T A.C.D

B.C. D only

T B.C.D

A B.Conly

%A B, C



Question Number : 6 Question Id : 4771877954 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Saritha, a 12 years’ age girl. appeared and completed ‘Intermediate’ with A+

grade. This reflects that her

12 aai=t afvar & qet gzvdiizae a2 o1+ J=ag =i At i feafiftae

Options :

Chronological age is greater than Mental age

1. %

Mental age is less than Chronological age
2.

Mental age is greater than Chronological age
- HIATHT 97 & FIATIH AT TATTAT T Ag

No relation between Chronological and Mental age

FTATTH AT AT ATATHF THTT BIATE] A4 AR



Question Number : 7 Question Id : 4771877955 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of stages of creative thinking

Tefrefier fa=T=a1 oo =T 9T #9 dear

Options :

Preparation. Verification. Incubation, [llumination

1. #

Preparation, Incubation, Illumination. Verification
2.

Verification. Preparation. Incubation, [llumination
3. ®

Preparation, [llumination. Incubation. Verification

4. %



Question Number : 8 Question Id : 4771877956 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an example for primary reinforcement

Options :

Food

2. %

Water

T T

Praise



Question Number : 9 Question Id : 4771877957 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As a teacher, which test do you use to assess the aptitude of your students?
foreass o qE=aT A=ttt afsa=t aurErATEt TRl R IEET araed

Options :

Thematic Apperception Test

IEERIGECIRAEEIn R IR
1. %
Army Alpha tests
2. %
Raven’s Coloured Progressive Matrices
. A FA AdTHeg HIZHA
3.

Finger Dexterity tests

4.9



Question Number : 10 Question Id : 4771877958 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
With respect to nature of the Head of the school. which among the following
lead to maladjustment, criticism among teachers and students?

STT=AT HEATEATTHIT FAATAT AT, T T B0 FHIE07 90 Arror
T T AAATA TS, 16T AT F0 A 52,

Options :

Social adaptability and maturity

1. %
Participative leadership
EEGINIE GG
2.
Authoritarian leadership
ETATE! A0
3.¢

Self-confidence and positive approach

4. %



Question Number : 11 Question Id : 4771877959 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which method is more applicable to guide the student. who i1s facing the

problems like aggressiveness, anxiety, shyness, temper tantrums and poor

academic performance?

ATFHAFAT, AT, ATSHGTIT, T A FHEHad SAfors FHEET T ARA T d12 37
AT fA=ma AT ARTES= FOATETST BT T80 ATSH AT TSd

Options :

Cross- sectional method

FIT — TFTTA T2

1. %

Case Study method
2.

Cumulative marks record
s THET oL Al

Introspection method



Question Number : 12 Question Id : 4771877960 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to ‘Piaget's Cognitive Development Theory’, the child exhibits this

at Pre-Operational stage

FTsz=a AT HHE AT ar aTe st T2 =41 209147 & Fai9d

Al

Options :

Logical thinking

1. ®
Conservation
_— HFET
Problem solving ability
_ AHET SISavaT=H T AHar
Egocentrism

s s piry
FHHladdl [ ATHIL Fzl



Question Number : 13 Question Id : 4771877961 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The changes in behaviour of an individual that occur by one of the following

factors does NOT fall in the category of learning

TETHT AT Hob UETAT ATH=AT aa4Td gL dae [9ST69T=47 DT (e A0a Jq

Options :

Changes due to practice

1. %
Changes due to experience
ATAATH a5
2.
Changes due to training
. AISTEATH aaed
3. B

Changes due to maturation

4.



Question Number : 14 Question Id : 4771877962 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following List-A with List-B regarding multiple intelligence theory

T T2 {1 THSTATAT ATEE AR (-3 ST ATE1-d =47 ST |11

Lizt- A Lizt —B
ATET - 3 A& -
(Intelligence) (FfEHT) (Association ) (H&Ted)
A) Spatial intelligence i) Social smart
HTHTTSTS T8
ECEIRIR G-t
B) Interpersonal intelligence i1) Picture smart
C) Intrapersonal intelligence 1m) Self smart
AT < A IGHT Aabbe

Choose the correct one

T 77T Ha=T

Options :

A-1mi, B-1, C-11

1. ®

A-1, B-n, C-m
2. %

A-ii, B-i, C-in
3. ¢

A-in, B-u, C4
4. %



Question Number : 15 Question Id : 4771877963 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the INCORRECT pair among the following

Options :

Differential Aptitude Test - Wechsler

- tafas gaar=t STt - F9FEar

Equally Appearing Interval Rating Scale — Thurstone

T feaT weATa e YET e - g2

2.
Client Centred Approach - Carl Rogers
, T Fiae FIEH — FTe TIo8
3.

Thematic Apperception Test - Murray & Morgan

fates AtgvacsTT 352 — 77 AT /i

4. %



Question Number : 16 Question Id : 4771877964 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following theory is related to cognitive learning?

FTA AT HIOTAT HG T AATATCHT (oraAmmeft dafad Ag?

Options :

Learning by Insight

ELEAECRTEA)

1.¢
Learning by Conditioning
e g1e faror

2. %

Learning by Trial and Error

=TT AT 72T 3T ferwer

3. %

Imprinting

BT A=

4. %



Question Number : 17 Question Id : 4771877965 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

“An individual once conditioned to respond to a specific stimulus 1s made to
respond In the same way in response to other stimuli of similar nature”. The

above statement reflects this principle of classical conditioning

AT FEIT=AT 307 SRl TATH FIAATE 33 AR, A (FH g g

Options :

Extinction
1. %

Spontaneous recovery
2. 8 )

Stimulus generalisation
3.

Stimulus discrimination

4. %



Question Number : 18 Question Id : 4771877966 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teachers and learners have to keep these view points in their mind for

seeking maximum positive transfer of learning.

TOrAshT ST 1 ST AT TeH T ged a7 FLvaTHTIS! (97 artor =it g

A) Identification of associations, similarities and dissimilarities among the

learning situations

fermTaT=aT TR e Fas, FH=aT A0 AT A= AT

B) Developing proper ideals and imbibing them to perform things in future

Ao Arast TETET F20T AT AT TS FLOHTATBT T ATCHATT H0T,

C) Building generalisations and making their use in further learning

Choose the correct one

EIERRIRREEE)
Options :

A, C Olll‘_v

wwm A, C
1. %

B. (; 011157

% B, C
2. ®

A 01115'

Hh A
3. %



Y. A BC

Question Number : 19 Question Id : 4771877967 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following which one comprises of personal events and experiences

associated with one’s life

ATl HITATHET TETIT=AT AT dafad J7iwid g=a1 i ggaa=r
FAHTAST AT,

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Rote memory

Semantic memory

Short-term memory

Sensory memory



Question Number : 20 Question Id : 4771877968 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the techniques that may help the teacher to sustain motivation among

students in the classroom

i fEETetaet 3o fehaa SavATandt ST gaq ©5 ad e A9 Far
BT T,

A) Reward and Punishment
awte Arfor v
B) Success and Failure

9T ATTIT AT

C) Level of Aspiration

D) Child Centred Education

AT Hivad (9T

Choose the correct one

Options :

A.B.CD
1. v

B.C. D only

% B, C.D

A, C,Donly

WA C D

B. C 011]_}'

% B.C
4, %



Question Number : 21 Question Id : 4771877969 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The percentage of learnt material forgotten immediately after 20 minutes as

per the Ebbinghaus experiment

UTETEa=AT FA AT farfeeft At @5 20 Fiaear Hasa e zgart

Options :

L% T72%
AT
) 47%
79%
3. %
75%

4, %



Question Number : 22 Question Id : 4771877970 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Teacher taught the lesson without considering fatigue status of students to
complete the syllabus. Many of the students could not understand the lesson

due to fatigue. The Thorndike's law of learning that 13 NOT followed by the

teacher here 13

feraehi=t Fe=rraws O HToATETST et g Fadt E=ra 9 = g=t
ferhaaT. A (ATt TF=ATHS =T G0 T ATerd AT (SH0T 9w g
ATAETE® (97T T3/ TTasel ATE.

Options :

Law of use

EICE IR RS
1. ®

Law of readiness

2.\3?3’*‘11’3?!'[&!?”

Law of disuse

ﬁwﬁﬂw
3.

Law of effect

IR IE IR E e



Question Number : 23 Question Id : 4771877971 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the statement that DOES NOT support the concept of Vygotsky's

Constructivist Theory

T TeEh =41 T9-TaTa] A= Ta=4T SdeaaaT a599 7 =077 =99 A=t
Options :

Social interactions are basis to higher order mental processes

1. %
Cultural factors influence cognitive development
. i T2 ST TcHS [ARTATEL T0TH HIard
2.
Learning 1s the product of association between stimulus and responses
fmﬂ"’T % ST AT Fﬂﬁ:&f A E‘:I\ | aEHE‘ o] ﬂ_f-f?‘l | ‘EI SHTeA 3"%
3.¢¥

Language plays a vital role in cognitive development

4. %

: Yes Display Question



Question Number : 24 Question Id : 4771877972 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Inclusive education includes the following children in the classroom

HATA AT T T A FrATA HATAT ATHAS Bl

A) Socially disadvantaged children

B) Phys=ically disabled children
AR R g

C) Academically differentiated children

St guAT fae 7

D) Mentally exceptional children

Choose the correct one

T I7 Hd=T

Options :
A.B.Conly
[ x T ABC
B, C. D only
% B.C. D
2. %
A C,Donly
3 % WA C.D
A'B.C.D

4.



Question Number : 25 Question Id : 4771877973 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

In this model of inclusive education. the specially trained teacher moves from

one school to another and assists the differently abled children

AT FHATANF forqorr=aT (A=) FH=THey f@aT wtafara foas wHr enega 39-47
STTGH SATAT SATTIT ST AT THTL=AT [GA T (AT AT Tad Heal.

Options :

Itinerant teaching model

FHOTS T ALATTT FHAT
I

Besource model

HATHA THAT

2. #
Distance learning model
T FETAT THAT

3. 0%

Dual teaching model

TR FEATIA THAT
4. %



Question Number : 26 Question Id : 4771877974 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the statement that DOES NOT reflect the concept of self-concept

ATA AT HIoTd HLT FEFeTIT (self—concept) FFHeTAT Tidfaifed HId ATRl

Options :

2. %

3.¢

Self-concept 1s the image of oneself

= HFEIAT J=TS Aidtad e

Real self-concept reflects one’s actual perception of oneself

G T AFHEIAT 2 ATH=AT T49q: dad=aT FTeaia® ATora=7 Tiafaa A9

Differential Aptitude Testa measure the gap between real self and 1deal

self

fa e Jwrar ST (Differential Aptitude Tests) FATEI (A% AT &=

AT2ST AT=ATI I AdL AT

Ideal self-concept reflects the perception of what one should be

T ATEI AHedAT of SATh Bl AaTS AT HoaaT s9ad



Question Number : 27 Question Id : 4771877975 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following method 1s suitable for teacher centric learning
"TATATERT FIMAT TZd T9T6F Ficd [STEamTETaT 999 5{1%

Options :

Brain storming

=T 79
1. %
Demonstrations
ATA TS
2. ¢
Discussions
3. 0%

Project works

4. %



Question Number : 28 Question Id : 4771877976 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Co-operative learning helps the teacher to develop these among students

Agwrd foreror ferarmreT fEemetass ai=r S s =g 7o

A) Group processing

T Y i%i?q
B) Individual accountability
C) Face to face interactions

D :l Positive interdependence

TAHHT TETe g4

Choosze the correct one

Options :
A, B,Donly

TH A B.D

A B, C 01113'

% A, B.C

B, C. D only

T B C.D
3. %

A BCD
4.



Question Number : 29 Question Id : 4771877977 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to this section of Right of Children to Free and Compulsory
Education (RTE) Aet-2009, ‘No child shall be subjected to physical

punishment or mental harassment’

2009 — F11=T (RTE) Sa1d ARG & H<h=T (ST 2HZ1=aT JT FAATTAT?

FIOTATS ! HATAT ATLNH &9 (FaT HHT 265 2ld a4

Options :

Section-17

T 217
1.+

Section-16

faar-16
2. B

Section-19

o -19
3. %

Section-18

fa9mT -18

4. %



Question Number : 30 Question Id : 4771877978 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher who got irritated by the comments of Headmaster showed her anger

on students 1n the classroom. This 1s an example for this defense mechanism

HATEATIH AT (ST Hes (AT [976% ATTeAT TR [AERE a9 e [dareaiaz

FTAl % AT FHTH T (defense mechanism) JaTEM ?ﬂl%_.
Options :
Rationalisation

TS

1. ®

Displacement

IEECIRE
2.9

Projection

3w

Compensation
4. %

Language I Marathi

Section Id : 477187251
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187399

Question Shuffling Allowed : Yes



Question Id : 4771877979 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)

Wl FHIF 31 9 35 =1 ITL GTAT (aede T HlAd=a1 AL AT T (a2 (gl

Teel AT2d Te= AT
ATE BISAT Bl =T
-ﬁm-awr@—ﬁ

6IG{.|¢-II1'1I WIHdICI I

R RHERIEERIGT
FTaTEt 39 FLET /v
STEATI HIST=THT H8ET 1)

ERHERICERIGE
A AT FE AT
EREEIE RN IR R IR
SEATE IR AT 1)

TS FTTATH FabT1

I F7dT AT ZBTET ||

ATITT=AT AT Food 11
AT a9 5T ITAT
THATH AT A H

o r Fu )
A= FIgl AT =gT]

Sub questions

Question Number : 31 Question Id : 4771877980 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

grasiTg

1. *



2. %

e
3 %

qEa
4.

Question Number : 32 Question Id : 4771877981 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
T AMEL FF AT AH Fged A7

Options :

TE=T

1. #

3

Question Number : 33 Question Id : 4771877982 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

ERRIRIE FACIE Y
Options :

kS
1. ¢

Question Number : 34 Question Id : 4771877983 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



3 ]‘[ \] Wﬁlﬁ%ﬂn iﬁi ’qafull ?
Options :

dTch
1. %

2.0 TETT

=51
3. %

FHSTT

Question Number : 35 Question Id : 4771877984 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options :
HIGTHT

5. FAAAAN

CIERIE

3. %

4. %

Sub-Section Number : 2
Sub-Section Id : 477187400
Question Shuffling Allowed : Yes



Question Id : 4771877985 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (36 to 40)

W FHF 36 T 40T 3T FTAT =1 IAT-AT=AT AL 0 T [Hage frgl—

AZTATAT SATHA UFHAT A =41 FoAqT qIgd AT, T Tgd =1 A8 AT
TEITAT — "¢ TH, 313 AT AT FaT TIg A4 TS FgoTal Foar1 A (=41 A v Faz v
ST FAATA. TG ST FhA ATAT i AT Tegl 16 T A, THT TEATHGBT G
FAS HTGA AgHl THTOT AT FTSTET AT BIATS] T3 AHAT, A T AT FATEAT
=TeBe 1A ATATe TR, ST A9 TAel, T AT [T BgomeT — “HIT AT qe At

e, TATAT AT AT FguIA TAT Ta7 TA7 a7 H/ T 41

SATHAT BZ #ATer TLaAT AF o AT FgIUeAT, - “$TTH TIATAT |07 AT 79 T
ST T, TET JATAT AT AT AF Fge A ST g, AN ATTHG I THITAA ATe el SATHAT [T
f&etT, FTeT J@7 AT, SATHT Z[T TEadiel a7 TZIT ATTeAT qa1 ATeh AT Tasf |
SATH=T TS ATAT=T (HA92Ta 1953 Tl 7.5, 7T AT (2va(sid HeAr, = T T07 41
T RIS AT AH A, T AT AGATT [ AT Foqaq s HIATT A9,

Sub questions

Question Number : 36 Question Id : 4771877986 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘SATH=T A5 AT SATH TS Hi7?
Options :

1. ¢

THHAT AR

=T, TTETHST

Question Number : 37 Question Id : 4771877987 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

AT SAT-ATAA SATHAT ATSA T (a2

Options :

1. %



T2 IH FE0

2.¢
T H

3. %
T FHTE

4. %

Question Number : 38 Question Id : 4771877988 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :
= ar. foear=se

Question Number : 39 Question Id : 4771877989 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

RIEEIE] E?"-?r CEN P AT FTF FeA?
Options :

RIGICIE TSN

TET TETAT
3.

'?-\a?_ qﬂ?;“;‘

Question Number : 40 Question Id : 4771877990 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



?ﬂ'-_'f'.'r IQ] E-i i:;: I EII R S AP
Options :

qrasit

Sub-Section Number : 3
Sub-Section Id : 477187401
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 4771877991 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

1. ®

AT =A<h HCATHTS
2. %

T [a‘_‘-ll:'.“q L2 :ﬁl
3 %

ATAHTAT T5 Tl AT & Z9aaTa
4.%



Question Number : 42 Question Id : 4771877992 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

HATHTT AT STeaT=T F47?

Options :

E«iapq o TR 9154

1. ¢

HEHHTT T

2. %
3. 0%
4. %

Question Number : 43 Question Id : 4771877993 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
T TG ATAT AG?
Options :

FHT T

1. ®

ST A e
2. %

= 7 E d

3.¢

-

4, %



Question Number : 44 Question Id : 4771877994 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

2= a7 g STeaTAT ATATTEE % forgr.

Options :

o= A

[EEREIL]

2. %

IERIEZIE:
3.

o= a9
4. %

Question Number : 45 Question Id : 4771877995 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
FTA AT HI9T AT T TATEATET TS 12T,
Options :
LLEERE

1. ¢

qd AT

T AT

qe THH



Question Number : 46 Question Id : 4771877996 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

AT AHTT AT (ST TETET ST, T Fre AreEr?
Options :

TAHTT FTB

Question Number : 47 Question Id : 4771877997 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘FaTE # o= # - g 3 woft e

Options :

=, a1, arEaTEe



Question Number : 48 Question Id : 4771877998 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

FSaAT (0T — AT AT% THETAT AT 7472

Options :

Question Number : 49 Question Id : 4771877999 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

HETIF — AT TAIATH HI1EF HIT?

Options :

AT TIT ATTLHRT
1.

ATBITET AT

qTH TTET Ea®



Question Number : S0 Question Id : 4771878000 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

ATAT qTAT — T2

Options :

T [ETSTE 9Teferd ST it ST 9T

1.+

™ - [ ) L
ITAE AT dlefeal =TT

2.
- TETHTA e AT
4. %

Question Number : 51 Question Id : 4771878001 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ar=ATAT AT " =?

Options :

| ST ATEI, AT, T AW g

ST ATFATAA 9 BT STl |
2. %

y % AT AT w1 =1<h gl

4, %



Question Number : 52 Question Id : 4771878002 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

foreas 7 Tt Fr=ardier =41, fEaaor

. ¢
2. %
3, %
4, %

Question Number : 53 Question Id : 4771878003 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
ATATd e Tedl &l (9TaHr?
Options :

1. ¢

STl TS

2. %



Question Number : 54 Question Id : 4771878004 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

i | i e W T Y
T AT HIT TATg==T?

Options :

-

qad A=
1. %

Y TTHETH
2. %

AT gehTaTs
3. % =

T TEATS
4, %

Question Number : 55 Question Id : 4771878005 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :
FTEHAT
1. ®

EEIGERI

2.



Question Number : 56 Question Id : 4771878006 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

ATA T ATHIOZZAT 415 9155 HIOTAT?

Options :

AT
1. ¢

AT
2. %

AT
3. %
4, %

Question Number : 57 Question Id : 4771878007 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

1. %

3%
2. %
3.¢



Question Number : 58 Question Id : 4771878008 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

1. %

2. %

3 % S
EIET

4. &

Question Number : 59 Question Id : 4771878009 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

HTITET a7 FTAT
ToF AT

a9 FTh -

EHLES FH AT AARTT '3-|'|%'7‘

Options :



Question Number : 60 Question Id : 4771878010 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

AT — BT T4 HI0TcAT TATAA qTHF AT ?

Options :
1. % R
., E k" -..o’I I
2. %
-\.Jrl gm
3. %
Arag as fid
4.«
Language II English

Section Id : 477187252
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187402

Question Shuffling Allowed : Yes



Question Id : 4771878011 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for each
guestion.

During the pre-independence era, Indian politician was almost non-existent.
He was given concrete identity and character by MK Gandhi. The social workers,
supporters and people from all walks of life joined Gandhiji for opposing the British
dominance over the Indian subcontinent. From these cadres, politicians of highest
calibre emerged. The reason of their political abilities and respectable status among
the Indian masses was their association with the greatest legend of their era Mahatma
Gandhi. Moreover, those leaders were pious to the core, knave, hardworking and ardent
practitioners of highest moralistic norms.

The masses adored these politicians of highest calibre and were prepared to
sacrifice their lives, property and sanity for the sake of the achievement of the sacred
objectives, which were defined by these true leaders of our nation. The leaders of yore
were the most respected people of society, the saviours of the nation, and role models

for the plebeian masses, whom they alwaya tried to emulate.
Sub questions

Question Number : 61 Question Id : 4771878012 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main source of respect for the early Indian politicians among the masses is

their
Options :

wealth and power.
1. %

Western eduecation.
2.

aszsgclation with Mahatma Gandha.
3.

positions in the British government.

Question Number : 62 Question Id : 4771878013 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What era is mainly discussed in the passage?



Options :

Pre-independence era
1.

Mughal-era
2. ®

Post-independence era
3. %

Modern era
4. %

Question Number : 63 Question Id : 4771878014 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following qualities was NOT attributed to the leaders?

Options :

Piousness
1. %

Deceitfulness
2.

Hard work
3. %

High moral standards

4. %

Question Number : 64 Question Id : 4771878015 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does the expression "leaders of the yore" refer to in the passage?

Options :

Leaders from foreign countries

Leaders during the pre-independence era
2.



Leaders who collaborated with the British
3. %

Leaders of India's post-independence era
4. %

Question Number : 65 Question Id : 4771878016 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What were the common people ready to give up for the leaders' cause?

Options :

Only their wealth
1. #

Only their personal freedom

Their future generations

Their lives, property and sanity
4.

Sub-Section Number : 2
Sub-Section Id : 477187403
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771878017 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly sequences the following sentences.
A) He apologized sincerely for being rude.

B) Later, he felt guilty about his behavipur.

C) During the meeting, Mr George spoke harshly to his colleagues.
D) Everyone accepted his apology readily.

E) It was because of a minor misunderstanding among them.

Options :

E.C.B.A.D
] %
C.E B A;D
2.9
B.C,E, A D
3. %
C.E.D.A B
4. %

Question Number : 67 Question Id : 4771878018 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct option with regard to correctness of the following sentences.
A: People rushed to find shelter from the storm.
B: Immediate action can helps reduce future disasters.
Options :
Only the Sentence A 1s correct.

1. v

Only the Sentence B 1s correct.

Both the Sentences A and B are correct.
3. %

Both the Sentences A and B are not correct.
4. %



Question Number : 68 Question Id : 4771878019 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

“Despite being outsider, she was elected as chairperson of the
committee.”
Identify the suitable option to complete the sentence.

Options :

gn, A
1. #

the, the

a, the
3. %

an, the
4.

Question Number : 69 Question Id : 4771878020 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The police officer found a child in the hut.

Choose the option to complete the sentence.
Options :

frightenad
1. %

frightend
2. ®

frighteaned
3. %

frightened
4. )



Question Number : 70 Question Id : 4771878021 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant sound in the word “vehicle”.

Options :

Question Number : 71 Question Id : 4771878022 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the meaningful sentence.

Options :

What they expected was to begin at six the performance.
¥ BXL g p
1. ®

) What they expected was the performance to begin at six.

They expected was what the performance to begin at six.
3. %

What expected they was the performance to begin at the six.
4. %

: Yes Display Question

: Yes Display Question



Question Number : 72 Question Id : 4771878023 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

| the order last week but the goods haven’t turned up vet.

Choose the correct option to complete the sentence.

Options :

get pver
1. %

sent off
2.

finds out

glve 1n
4. %

Question Number : 73 Question Id : 4771878024 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

She was the only person whose I could trust.

A B C D

Options :



Question Number : 74 Question Id : 4771878025 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

He asked her. “Why didn't you inform me about the change in schedule?”

Choose the appropriate reported sentence.
Options :

He asked her why she had not informed him about the change in

schedule.
1.«

He asked her why didn’t she inform him about the change in schedule.

He asked her why she did not inform him about the change in schedule?

He asked her why has she not informed him about the changed

schedule.
4. %

Question Number : 75 Question Id : 4771878026 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

He never acts so rudely, ?

Choose the correct option to complete the sentence.
Options :

% don't he

does he
2.

doesn’t he

did he
4.%



Question Number : 76 Question Id : 4771878027 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct plural form of the word "phenomenon”.

Options :

phenomenas

phenomena

2.9

phenomenon
3. %

phenomenae
4, ®

Question Number : 77 Question Id : 4771878028 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the grammatically INCORRECT zentence.

Options :

When she entered the room, everyone was talking loudly.
1. #

While he was watching TV. the phone rang.

After she finished the exam. she goes to the canteen.

By the time we arrived, the guests had already left.



Question Number : 78 Question Id : 4771878029 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

She vizits her hometown once 1in a blue moon.

Choose the meaning of the expression "once in a blue moon'.

Options :

very rarely
1.¢

day by day
2. %

day after day
3. ®

regularly
4.%

Question Number : 79 Question Id : 4771878030 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The hard work exhausted the men.

Which of the following correctly transforms the given sentence into the passive
volce?

Options :

The men have been exhausted with the hard work.

1. %

The men are exhausted with the hard worlk.
2. ®

The men had been exhausted with the hard work.
3. %

The men were exhausted with the hard work.
4.



Question Number : 80 Question Id : 4771878031 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

You will have realized by now that

Choose the correct option to complete the sentence.

Options :

I am quite seripus.

1.

I have been quit serious.

2. %

I was quite serious.
3. %

I had been quite seripus.
4. %

Question Number : 81 Question Id : 4771878032 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

There was a lot of conflict between him and her.
Identify the antonym for the word "conflict”.
Options :

dispute
1. %

quarrel
2.

friction

agreement
4.9



Question Number : 82 Question Id : 4771878033 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

He was deeply affected the news of her departure.

Choose the correct option to complete the sentence.

Options :

of
1. %

on
2.

by
3.

off
4. %

Question Number : 83 Question Id : 4771878034 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
At this juncture, it is impossible to say whether she will make a full recovery
or not.
Here the word “1impossible” 1z a /an
Options :
verb

1. %

adjective
2.

noun
3. %

adverb
4. %



Question Number : 84 Question Id : 4771878035 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The city we visited last summer was incredibly beautiful.

Choose the correct option to complete the given sentence.

Options :

[ % who

whose
2.

whom

which
4.

Question Number : 85 Question Id : 4771878036 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the integration of LSRW skills in
Communicative Language Teaching (CLT)?
Options :

Practicing grammar rules in isolation

1. %
Developing language skills independently
2.
” Using real-life contexts to enhance language skills
3.

Relying only on writing assignments
4. %

: Yes Display Question

: Yes Display Question



Question Number : 86 Question Id : 4771878037 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best distinguishes a method from an approach in

language teaching?

Options :

A method 1s broader than an approach.
1. %

An approach 1s a set of classroom activities.

A method 1s the theoretical basis, while an approach is its application.

3. %

An approach 1s a theoretical viewpoint; a method 1s a practical plan for

implementation.
4.

Question Number : 87 Question Id : 4771878038 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which activity helps best in reinforcing vocabulary in voung learners?

Options :

Dictation
1. %

Grammar drills

3 Word games and picture associations

Writing reports on vocabulary
4, %



Question Number : 88 Question Id : 4771878039 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0

: Yes Display Question

“During a courtroom trial, a juror listens to the defence attorney’s argument

to judge its logic and truth.” This type of listening 1s known as
Options :

Selective Listening

1. %
Discriminative Listening
2.
Critical Listening
3.
Appreciative Listening
4.%

Question Number : 89 Question Id : 4771878040 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary aim of evaluation in English Language Teaching (ELT) 1s
Options :

to pass or fail the students based on their performance.

1. #
to 1dentify the learning difficulties of the students and 1improve
teaching.

2.¢¥
to rank students among other competitors.

3. %

to complete the syllabus and prepare the students for the next class.
4, ®

: Yes Display Question



Question Number : 90 Question Id : 4771878041 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A pavcholinguistic barrier in learning English refers to the
Options :

lack of playground.

1. %

poor classroom seating.
2. %

fear of making mistakes.
3.

familiarity with foreign culture.
4, ®
Social Studies

Section Id : 477187253
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 60
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187404

Question Shuffling Allowed : Yes



Question Number : 91 Question Id : 4771878042 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Siwalik Mountain ranges run parallel to the Lesser Himalayas for a distance of about

2400 kms from

feraTfors T @ fEATeET=AT aHia gH 2400 AT daereET a\ T e,

Options :

Hindu Kush Mountain Ranges to Brahmaputra Valley

RS URERIRIC G RE REIRR IR R

Potwar Plateau to Hindu Kush Mountain Ranges

TrZaTE TSI fZamer Taav T 94

Potwar Plateau to Brahmaputra Valley

y TIEaT? T5TTITEA #gTd G-ATTEa
3.

Rivers Ghaggar to Teesta

4. %



Question Number : 92 Question Id : 4771878043 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The words latitude and longitude are derived from the Greek words ‘Latitudo’ and

‘Longitudo’ respectively, which means
AraTer (Latitude) ATTOT 74797 (longitude) ¥ 9758 AAHH @led ATdd A dieads( (Latitudo) #TfoT
AREIET (Longitudo) 7T IEETITHA Hae« Algd. SAT=T A% AAT glal

Options :

Length and width

1. #

revolving and rotating

2. ®
height and depth

width and length



Question Number : 93 Question Id : 4771878044 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the Statement that best describes the ‘Inversion of temperature’

ATTHTAT=AT Ie2 #4d1= (Inversion of temperature) #FATTH A9 HLOTY (GG Ara@T

Options :

An increase in temperature with height

SHAT ATeeATaT QAT 918 gl
1. ¢

A decrease in pressure with altitude

- JHT ATEeATIE ZETd 92 g,
A constant temperature at all heights
y % 9 SHTEE QU fET S

A decrease in temperature with height

JHT ATEATET ATIHTATT =2 I,
4. %



Question Number : 94 Question Id : 4771878045 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
This Meteorologist and Geophysicist had hypothesised that the super continent of Pangaea

broke up to form Laurasia and Gondwana Land

AT ST ATAT AT T AT Al

Options :

Alfred Wegner

Marcia McNutt

qTis=T e

Harold Zaffreys

3. %

Zhang Heng



Question Number : 95 Question Id : 4771878046 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Submarine Canyons are observed in this region of the Ocean Floor
AETATT=AT qaTdie AT &Aa7d TTods $9-4 (Submarine Canyons) AZ&TA.
Options :

Continental Shelf

g= 19 7 (97)

1. ®

Continental Slope

F= T IAT9
2.

Abyasal Plain

Fed AT f=ET

3. %

Oceanic Deep

4. %



Question Number : 96 Question Id : 4771878047 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

This Volcano 1s known as ‘the light house of the Mediterranean Sea’

AT SATATHE AT FHET T EMT[E (ATZE §15HH) Adad F1d
Options :
Mt. Pelee in West Indies

aFE TETSTHE T HT3E Ul

1. %

Fujiyama i Japan

ERIERCIE R EIRIL ]

2. %
Stromboli in Sicily
RVl i et

3. ¢

Cotopaxi in Equador

ZHTE FHETA FIa 911
4. %



Question Number : 97 Question Id : 4771878048 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this part of India. Red Soils develop on erystalline and igneous rocks in the areas of low

rainfall

Options :
Eastern and southern parts of the Deccan plateau

1. ¢

Western and Southern parts of the Deccan Plateau

T ST TT2re iy =fEmr amr

2. %

Andaman and Niecobar island Region

. FEHTT AT FTH T a2 F=8T

North western part of Indo Gangetic plain

AT THE AT HEATAT AT (3T TIEH) 9T

4. %



Question Number : 98 Question Id : 4771878049 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the Directorate of Economics and Statistics. Ministry of Agriculture, 2017, the

percentage of land under Net Sown Area 1s

Tt HATATT=AT Ao A7 ATFEht F=reaTaAT=aT 2017 T4, Feae Tl derareia (Net
Sown Area) STHATHT ZFaTIT
Options :

18.11%



Question Number : 99 Question Id : 4771878050 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, the project constructed across the river Mahanadi 1s

a

HEIAAl Aala? aTEaddl IFeT, GTA A T6H U6 g

Options :

Sardar Sarovar Project

q7als ﬁifa- A g

Rana Pratap Sagar Dam

LT AT AL &,
2. %

Hiralkud Project

- j 3
3. ¢ )

Pravara Project

PERIIE T
4. %



Question Number : 100 Question Id : 4771878051 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Second largest producer of Paddy in the world 1s

ST e ATATAT (AT AT) FA-AT FATHEL A1 AIBT IcAEH

Options :

China

o T

Palkistan

EIEALSIG]

2. %

Bangladesh

ATFATEIT

3. %

India

40 TS



Question Number : 101 Question Id : 4771878052 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following 1s NOT the form of Cloud

Options :
Cirrus

1. % "
Nimbus

2. % s
Sleet
&=

3. ¢
Stratus
v J‘I‘J;q

4. %



Question Number : 102 Question Id : 4771878053 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

These forests are grown in the higher latitudes between 50° and 70° of the northern

Hemisphere

Bl S 30 AErE e 50° @ 70° FTEE=AT 35 AATATHE Aledrd

Options :

Mediterranean Vegetation

STHETAT [ aT ]

1. %

Coniferous forests

S ERMIENC]

2.9

Temperate Deciduous Forests

T IS Sl

3. %

Tropical Evergreen Forests

L x FeETEA T TRTE ST



Question Number : 103 Question Id : 4771878054 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the Cold Current from among the following
FIGIGRED 9% A9z 7412 ArsET

Options :

Weat Australian Current

T Al TaTe
1.v¥

Kuroshivo Current

2$3ﬁfé‘r€r‘rﬂm—fg

East Australian Current

3.

South Equatorial Current

4. %



Question Number : 104 Question Id : 4771878055 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The annual insolation received by the earth on 3™ January is slightly more than

the amount received on 4 July, because
3 AT I0sT T=ATa7 ATi9F 17 I (insolation) THTT 4 S TAT 912 AT A9
EDER

Options :

The earth 1z nearest to the Sun

| T AT WA ST AA

The earth 1= farthest from the Sun

At FATITEA Hqaid 57 A6d

2. %

The earth 1z neither nearest nor farthest from the Sun

qeeft AT A91q ST TAT A qATT 77 & A9

The length of the day 1s more

4, ®



Question Number : 105 Question Id : 4771878056 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ravi's weight 1s 80 Kgs and his height 15 1.79 mts. Then. the BMI of Ravi is

TiE= a1 80 e[ AT AT ATHT 3=T 1.79 Hizz A, T7 TE=471 dI. UH, A7, IAH1 A2

Options :

44 69
1. ®

o ¥,
- 24.96

12.48
3. ®

6.24



Question Number : 106 Question Id : 4771878057 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct statement regarding the distribution of workers among the different

sectors of the economy as per the data given in 2017-18

2017-18 W ReiedT AFSATITATT AFATEI=AT (AT AATHES BT HLAT TE0 (195
Ao T2eT strear
Options :

The workers in the Industrial and Service Sector are more than the Agricultural

Sector

1. %
The workers in Agricultural Sector are more than the Industrial and Service Sector
fﬁ_'ir AT T TS T ST AT AT J4T ST e STed ?ﬂ!%

2.
The distribution of workers in three sectors iz same

3. %

The workers in service sector are less than the Industrial Sector

HAT SATA A BTHIA] HAT AT AT FH AL



Question Number : 107 Question Id : 4771878058 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the rural areas in India. the main demand for credit 1= for

STTYATA o TTHIT ST, Fo =1 qed Ao JTAsT e
Options :

Purchase of agricultural land

| TSR

Construction of houses

CEAR RGN EAL]
2. %

Crop production

3.\&7 ‘ﬁ—c’ﬁ‘.J\lEil

Undertaking business activities

4. %



Question Number : 108 Question Id : 4771878059 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India. Aadhar Enabled Payment System (AEPS) iz offered by

ATATT AT HEH THe [He2q (AEPS)AT g1e 3t =i

Options :

Ministry of Finance

EEEEIGE]
1. %

Rezerve Bank of India
2.

National Payments Corporation of India

3 T UHE FTITL9 AT =47

Comptroller & Auditor General of India



Question Number : 109 Question Id : 4771878060 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The employees working in the State and the Central Government offices get an

additional payment called ‘Dearness Allowance’ or D.A. to

TTST AT g ALRTET=AT HIATADTT HTH FLOAT-AT FHAT-F Hgl 2 o (Dearness
Allowance) D. A ATET=T ATGH® T2 Faar. W

Options :

Increase their income so as to meet the increasing inflation

ATEAT HEFITEdT dig ST TEI5] AT+ Joad ATeTd
1. ¢

Keep additional income in the hands of employees

2. B

Increase the purchasing capacity of employees

FHAT-ATAT Dial AHAT ATE141
4

3.

Make the employvees rich

FHAT-FTAT fida Frd
4, %



Question Number : 110 Question Id : 4771878061 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The range of Human Development Index Value iz

AT e R gear=t a0ft g =g
Options :

1 to 100

1100
1. %

Otol
01

—0.1t00.1

—0.1d0.1
3 %

1 to 1000

1 & 1000
4, %



Question Number : 111 Question Id : 4771878062 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Year 2000 is the base year. In 2001, the average prices of all goods have been
increased by 10%, whereas in 2002 they have been increased by 15%. Then, the Price

Index in 2002 1s

2000 2 a9 ATITTAT 99 (base year) 3g 2001 H=4, T4 F&=41 G267 1 fHHdT 10%

ATgeAT Aed a¥ 2002 HET T 15% A TTeeAT Aed. AT a7 2002 77 fFma Faei ar

Options :

125.75

1. %
EES.2S

2.
T
3 126.5
125.5



Question Number : 112 Question Id : 4771878063 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

These are used to calculate the Dearness Allowance to be paid for Government

Employees to revise legal wage rates

FrA29T F049 27 (legal wage rates) THTTTATHIST HLHTET FHAT-ATT ATAT ATTIT-AT

HERTE AATH T THT FLATHISN § aT90eA AT

Options :

Wholezale Price Index

- HT3 TAd faei®
Consumer Price Indices

, o TEF (B LREEHIED
Retail Price Index

. e oa e

Producers Price Index

EIICEAE L CREEEIED



Question Number : 113 Question Id : 4771878064 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Removing barriers or restrictions set by Government is known as

HTRTL AT A2 [HaT (Hde FIgom SrH0r ATAT Fgorana

Options :
Economic liberalisation

1.+

Globalization

2. %

Privatisation

FTSI TR

3. %

Natignalisation



Question Number : 114 Question Id : 4771878065 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

During inflationary situation. the Reserve Bank of India reduces the money in

circulation in the economy to

FAqaTE=T 9 egaid (inflationary situation) T =4 g% A% AT THRET0

Options :

Increase the purchasing capacity of the people

1. ®

Make the money awvailable only to the poor people

Reduce the purchasing capacity of the people

. AT Tl AR BHT B0
3.

Discourage savings in the bank so as to keep more money in the hands of the poor

people

TIE AH=AT 2TaTd AT T TTeTad Tl d6hd a4 FL0ATH G279 F200

4. %



Question Number : 115 Question Id : 4771878066 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
This Act/scheme mandates that it 1s the responsibility of the Government to provide
manual work on demand and the wages to the workers and the capital needed are to be

paid by the Government

.

=T AT [ FTSAT AF 7Ad I, FTH ATTN-AT AR TaHS ] FIH 390 af FLREAT TaTaaT]
ATg AT FSZAT (& AL A T ATATST AT el aeres== ==r aql.

Options :

National Food Security Act, 2013

TTET A q7AT ATIHTH 2013

1. #

Pradhanamanthri Anna Yojana

2. %

MGNREGA
3.

The Factories Act

4. %



Question Number : 116 Question Id : 4771878067 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Gautham Buddha suggested the Ashtanga marga (Eight-fold path) for

A T FL AT (Eight—fold path) =TE@T

Options :

Malking the people aware of the four noble truths

ATHAT T 3279 97141 (four noble truths) STIHF F& 397

Making the people to know the original teachings of Buddha

ATHIAT AET=AT Hep TSl Feparr

Elimination of human mizery

J ATTETAT @ (ST H00
3.

Attainment of salvation

orey 9Tt

4. %



Question Number : 117 Question Id : 4771878068 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following books was NOT authored by Acharya Nagarjuna

Options :

Sunyavada

.\1 ﬂ'\[
1. ®

Suhrullekha

5
Arerdl

2. %

Madyamikakarika

3. %

Deepavamsha

EREE
4.



Question Number : 118 Question Id : 4771878069 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The construction of these two temples in Rajasthan is considered as the most notable

contributions of the Jains to the domain of architecture
TTSEATET Bl AT S "G aig®w g S\ areq@ATe T a1 e 4 deE
T ST
Options :
Dilwara Temple and Mount Abu

1.

Khajuraho and Dilwara Temple

AT AT fEeane wfew

2.
Mount Abu and Lakkundi Temple
3. %

Dilwara Temple and Seth Hathisinghi Temple



Question Number : 119 Question Id : 4771878070 Question Type

Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary objective of the Marshall Plan was
HTSTA FraraT= arafaT 3f2Erg

Options :

To spread communism in Europe

AT Hed ATEAATE T2HAY
1. ®

To rebuild war-torn European economies

2.9

To create a military alliance in Europe

3. %

To colonize Eastern Europe

T4 ATHS FHTEd H0|

4, %

: MCQ Option Shuffling

: Yes Display Question



Question Number : 120 Question Id : 4771878071 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, the Harappan Civilisation Sites located in India were

FTATATHT, AT 29T =T A=hd =1 (5H190 21 AT,
’ (<) i <] 'Et

Options :

Kalibangan, Chanudharo and Lothal

T [V, STEITeT AT A Teer

1. %

Mohen Ja Daro. Shortugai and Sutkagendor

2. %

Kalibangan, Ropar and Harappa

3. %

Kalibangan, Ropar and Lothal

FeA T, LTI AT AT
4. ¢



Question Number : 121 Question Id : 4771878072 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the Chola Inscription, ‘Pallichchhandam’ refers to
T TS @ AT T i=g29 (Pallichchhandam) Tgors0
Options :

Land donated to Jain Institutions

S HEITAT 3T heAd | TH (T

Land gifted to Brahmins

ATEITAT 92 Fgu feeteft st

2. %

Land for the maintenance of a school

STTB=AT S FATATATS] FAH T

3. %

Land gifted to temples

4. %



Question Number : 122 Question Id : 4771878073 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The archaeologists are of the opinion that the city of Vijayanagara had four separate

divisions. Among the four divisions, the first division was

QAN TAATT W AT hl (HATHATL AgTd AL A5 (=9 gid AT 12 AHITasht, qiger
[RRLEE

Options :

situated on rocky hills which was devoted to temples,

situated on the valley where crops were raised using water from irrigation channels

a royal centre in which royal palaces and residences of important nayaks were located

3. %

Residences of ordinary people



Question Number : 123 Question Id : 4771878074 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Mehrauli Iron Pillar” Inseription refers to the achievements of
A oAl ATE=ST waST=T ST Grefier ST d2s Zqr.
Options :

Samudragupta

!_IJ\‘\

1. #

Gautamiputra Satakarni

zgn%ﬁﬁg?rqmﬁ

Chandragupta II

3. TWIHY

Ashplka

EEED
4, %



Question Number : 124 Question Id : 4771878075 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

In France, these philosophers wanted to create a society based on freedom and equal

laws and opportunities for all

TRTHHET AT Ted AT T = Td 53 #ATT9 THIT F192 A G197 G817 197 Ararig aa9 Hamr

Options :

John Locke, Jean Jacques Rouaseau

St Sfi st

Montesquieu and Aristotle

2.
John Locke and Karl Marx

3. %

Noam Chomsky and Karl Marx

4. %



Question Number : 125 Question Id : 4771878076 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the main demand of women during French Revolution was that
Options :
the women should get the same political Rights as men

- HigeAT=T TEITEE T ATEHT Hesre arfgsa

all the women should be included in the list of Active Citizens

Napolean Bonaparte should be made the King of France

- AT SATITEAT W E=T T deae T

The power should be in the hands of third estate

a7 fao-aT1 gFe=a1 g A9Et

4. %



Question Number : 126 Question Id : 4771878077 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per this, no European power would be allowed to build colonies in the American
Continents and the United States will not interfere in the affairs of Europe or

colonies in other continents

ATTATT, FITATET TEHT 0T AT FUSTHES TATEd T AT =1 TeaTa+1 fae T
ST ATE AT STt T e 397 gemdie aared =4 FITara ZeaaT FI

Options :

Truman Doctrine

o T

Munroe Doctrine

T gt

2.

Marshall Plan

Aqrster fargia

Treaty of Paris

uﬁ. - HE

4. %



Question Number : 127 Question Id : 4771878078 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Libya is located in this part of Africa Continent

ATTRFT F=T=4T AT FTG (ota4r B =g
Options :

North- Western

397 - Ity

Northern

R 3 E_fiﬂié |

South-Eazstern

3. %

Central

qE7



Question Number : 128 Question Id : 4771878079 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is the provision of Right of Children in Free and Compulsory

Education (RTE) Act, 2009

GTA ATl T ATABIAT AR AT H<01=T1 19Te=1 24 (RTE) FT=T — 2009 =T 3= Ag

Options :
The Curriculum and Evaluation procedures must be in conformity with the values

enshrined in the constitution

1. ¢

Every Child should be admitted into the school at the age of three

TeAT HATAT AAT=AT [dF-ATAHT oo AT fGaT qrigs

Children can continue in the school even after 14 vears of age for the completion of

Secondary Education

AT=ATH 9T Oof Foamamat 7 14 aIHaIel e A1 ahard.

3. %

Child’s name should be removed if the child fails in the elass

ST | AN AT ST T AT AT FlG 21604



Question Number : 129 Question Id : 4771878080 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

With this act, the minimum age of marriage for girls was raised to 14 years
AT FAATHS, AT AATH (HATT 7 14 T9 FL0F7T ATA

Options :

The POCSO Act,2012

| % T T 2012

Sharada Act of 19290

L » 1929 =T ATRT FTAaT

Child Marriages Act, 2006

- ATAtaaTg F192T, 2006

Criminal Legal Amendment Aet, 2013

. IS T FTasi17 FET0T F=T, 2013
4.



Question Number : 130 Question Id : 4771878081 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1953, the States Reorganization Commission was appointed under the chairmanship

of Fazal Ali to address the 12sue of formation of states on the basis of

1953 We, HA AT ATAT AAATETAT 7157 TACAAT AFTAT (FhT 0T AAT SO
TTeaT=a7 A= wo A7 ArgTTaT aregar I59

Options :

Caste

% Sd

Religion

L

2. %

Language

3.

Culture

TRl

4%



Question Number : 131 Question Id : 4771878082 Question Type : MCQ Option Shuffling
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The main objective of Operation Blue Star was

AL & 2= 2T 3192 § eld

Options :

To conduct election in the newly formed states

. AT FATIA ATAAT T THET [HaS T =0
L.

To clear the Golden Temple complex in Amritsar from Sikh militants

2.

To fight the Pakistan militants in Jammu & Kashmir

ST AT FIsH A T Tiea T Afavaaiiasg @

3. %

Liberation of Bangladesh from Palkistan

T A TITEA dvATZeT=T el

: Yes Display Question



Question Number : 132 Question Id : 4771878083 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The major highlight of the National Emergency period in India was

Options :

4274 Amendment of the Indian Constitution

v AT 1 HFETAT 4277 g1 FEed

Entry of Rajiv Gandhi into Indian Politics

AT TTAH20TT T1A 1 e =T T99T
2. %

Enactment of Official Religious Act

Formation of New states on the basis of linguistic principle

AT e T=aT AT Tt s ST



Question Number : 133 Question Id : 4771878084 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the provisions of Article 356 of the Indian Constitution. the President may dismiss the
State Government and order the Governor to take over the adminiastration of the State with the

advice of

A GTaaT==4T 49 356 Héﬁﬁﬂjﬁw,ﬂaq—cﬁ T HIHTT AT ®E ST Td SATTr
TTETTATAT Z=AT Hoed T T BILATE a1 d0aT=T ATS9T 23 Thara.

Options :

Chaef Justice of India

ATEATH H2T ATATH 9T

1. %
Home Minister

TEHAT

2.
The Prime Minister
EGPEIG]

3. ¢

Chief Justice of High Court of that particular state

T Faferg Tr=AT=AT 37 AT q=2 i
4. %



Question Number : 134 Question Id : 4771878085 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The two major ideological and political Camps emerged in the post second world war

period were

TA-AT AGTAEATAATAT TSI g 219 THE AT A7 1019 T2 JIATH A1
Options :

The Communist bloc and Non-aligned bloc

HATEETET (FHHE) TE AT ATy 12

1. ®
The Democratic — Capitalist bloc and Non-aligned bloc
ATHITET — A=ZAALTRT T2 AT Fferd T2

2. %
The Communist bloc and the Democratic — Capitalist bloc
ATEATAT (FFAIEE) T2 AT AHSTRT — TISaATRT T2

3.¢

Fascist bloe and The Democratic bloc

e T2 AT ARl 2



Question Number : 135 Question Id : 4771878086 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A war fought behind closed doors through propaganda and words, without real physical

combat as in traditional warfare. This i1s known as

TR TZTAATT TAE AT AT (AT, TTL AT STEAT=A71 HIEAHTAA a3 SRS ATeA ]
AGTAT & FoIaTd

Options :

Civil war

L% S5

Cold war

ofiT 13
2. %

Guerilla war

3. %

Nuclear war

AoTs 45

4. %



Question Number : 136 Question Id : 4771878087 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘CIA’ 13 the

#1537 (CLA) 8ot
Options :

The spy agency of United States of America

- AHTLHHT THT HEAT

The militant group of Russia

TISATST AgAaATat 1=

2. ®
A radical student group fought for their rights

The space agency of United States of America

4 % FHTHAT AT TEAT



Question Number : 137 Question Id : 4771878088 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The primary aim of the Bandung Conference was to
Options :

Establizh a new military alliance

AT ASHL AT #ATHA FT

Promote Western democracy

TTETET ARSI (AT TATE HT
2. %

Promote Afro-Asian economic and cultural cooperation

AhT-aeraTE et anfor aresfas ageEiar soaeT a
3.¢

Expand colonial territories

4. %



Question Number : 138 Question Id : 4771878089 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is termed as ‘Excess Rainfall’'?

FATATATH T HITA aqlaa,_él Feordra?
Options :

+20 percent or more of the average rainfall

AITEL=AT +20 =g har =g aAfes 1A
1. ¢

+10 percent or more of the average rainfall

AITEL=AT +10 =g fhar =g afes aaa

2. %

+19 percent to —19 percent of the average rainfall

- T ITEET=AT +19 2% 7 -19 =&

-20 percent to -59 percent of the average rainfall

4 % ST ATEATSAT -20 2% 9 -59 25



Question Number : 139 Question Id : 4771878090 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following does NOT come under cognitive domain.

-

FTATATRT T AATTHS A=Td 49 ATl

Options :
Remembering
1 AEATT 50T
Drawing
I E
2.
Understanding
T =
3. % g
Evaluating



Question Number : 140 Question Id : 4771878091 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to aims & objectives.

=4 Ao IrErgiet Hatag H= = swar

Options :

Objectives emerge from Aims.

The scope of objectives is limited than that of aims.

StEre=T =TT S=ETeET "G iE T 9.

2. %

Aims are specific and achievable in short time.

=49 T390 SEaTa AT HHT ST ATE HIaT Ia7d.

Aims are the guiding prineciples in education policies.

StA T STEOTET S € AR a0 e,



Question Number : 141 Question Id : 4771878092 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Translation. Interpretation and Extrapolations are the specifications under this

objective In social studies.

ATHTISIF ALATHTE (o AT ST AT, ST AT AR AT07 (TFAZTT A TT)

Options :

Synthesis

TET

1. ®

Analysis

R

Evaluation

1x &

Comprehension

EIEEE]
4.



Question Number : 142 Question Id : 4771878093 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A class — IX student is actively involving in classsroom activities, respecting the
opinions of his friends. working with them and helping others. These activities
are reflecting the learning indicators of this academic standard

AT AFa =T T arrde SarmarT ey AT agaEl grar, @r=ar FEr=a

AT Aa? Hal, ATATHET TH LAl AT ga 4T Haq Fal. af HE 47 i
HTAsT=aT AT Haaa= (learning indicators) gfafda =eoffaa ameq.

Options :

Appreciation and sensitivity

Frd® AT Faaashi=ar
1. ¢

Conceptual understanding

2%14?@1—%%« 0 a9

Reflection on contemporary issues and questioning
AT THEAT AT waTa7 Haq

3. %

Reading the given text and interpreting it

FaaaT Aerge ar=or AT =T A AT
4. %



Question Number : 143 Question Id : 4771878094 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following prineciple of curriculum development relates to importance of

Iinking the social studies content with daily life problems and experiences.

AATHFRHTAT AT AT dod HATHTSTH AT THT=AT ATITAT=AT 2+ (2 Sia-Td I

AT AT AeTeT ST ST FATst HafaT A
Options :

Principle of creativity

- asasied= aca

Principle of flexibility

Ag=%d dcd

Principle of conservation
AT dcd
Principle of utility

4.



Question Number : 144 Question Id : 4771878095 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following. identify the INCORRECT statement

Options :

In subject centric approach, lessons are loaded with informative content.

1. %
In constructivist approach, teacher follows chalk. talk method
TATETR] AUFETT, 9 g, = 980 Aq«dard.
2.
In child-centric approach. knowledge construction takes place through
active participation
ali;-lalEizil Féigq:rﬂ I,.elll_‘f Eﬁiﬁ[g H 'i‘a:q Hﬂ\ﬂl‘ [a %ﬁﬁ-_
3. %

Programmed learning is the contribution of behaviouristic approach

4. %



Question Number : 145 Question Id : 4771878096 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following. identify the learning experience placed at third from the

base of the cone in the order of increasing abstractness in Edgar Dale’s Cone of

Experiences

GrAtAdhl, TSN 9 A=AT AGAT %547 (Cone of Experiences) afarifas®

HZiiama=ar (abstractness) FAE =917 Fa9 qBTITHA o9-a71 FHTHET AT
Options :

Motion picture

EEIRE]

1. #

Demonstrations

ATATEA

Dramatie participation

AT FEHTT
3.¢

Contrived experiences

qai('q \I azl;\__‘ﬂa

4. %



Question Number : 146 Question Id : 4771878097 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Lithosphere, Atmosphere and Hydrosphere come under this branch of
Geography.
IATAT=AT AT 79T qH=a (Lithosphere), aTaTa79 (Atmosphere) AT F@H=®
(Hydrosphere) FaTd

Options :

Phyto Geography

FAETAT (FTAZT) I
1. %

Regional Geography

Political Geography

3. %

Physical Geography

ENGEAUIE]
4. )



Question Number : 147 Question Id : 4771878098 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

After observing the places like Shimla, Darjeeling and Nainital. ete., a class-X
student came to a conclusion that, when height of a place 1s increasing, the

temperature is decreasing. The learning approach that is reflected here is

foraaT, arfsieisr afor dfdare goarts SFm= Fiay feHas SgEi=ar UH
Ta=meia e ey Fear ®f, Siegr varaT BHa=t 341 9ed A9, degl arTH=

Options :

Inductive

HANTHATHS
1.

Deduective

2. ® ﬁ‘lﬁﬂlfﬂ Efl

Concentric



Question Number : 148 Question Id : 4771878099 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A visit to water works, printing press, telephone exchange & railway station

majorly help in learning about these resources.

Fiaz T4, TIET 39, SR vaa=as A1 Tod 29\aT 92 faedT= 37 997841 954
ST =T HIB1 7T 2id

Options :

Geographical
1. ® o

Economie
2. HEH

Historical

Cultural

s » TR



Question Number : 149 Question Id : 4771878100 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the characteristics of good evaluation tool among the following

A) Practicability
m rq ?f.l -‘i a [

B) Subjectivity
FhEar

C) Objectivity

D) Reliability
IEELCIRn

E) Validity
T

Choosze the correct one:

i} | Y
P SdL Idd =1

Options :
A BCD&E

A, B.C& Donly

< A, B, CarforD
2. %

A.C,D & E 01113'

A, C. DT E
3.

B.C.D & Eonly

% B, C. D anfT E
4, %



Question Number : 150 Question Id : 4771878101 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following List-A with List-B. regarding component teaching skills

assoclated with different stages of a lesson.

TEAT=AT AMATGAT 0T8T TA (8T T2 AATIT DT Tdad, GTeATd ATl —1 AT
TATal — F Al

List-A List-B
1 qral—d
(Stage of lesson) (Component teaching skill)
E=TAT 41 Haw ALATIT HIeTeH
A)  Planning stage 1) Demonstrating
B) Introductory stage 1) Giving assignments
ATEATTET 2007 FETEATT 20

C) Presentation stage ni)  Selection of the audio-visual aid
D) Closing stage 1v)  Introducing the lesson

Choose the correct answer:

Options :

A—m:BP—iwv:C—i:D-1
1.

A-1mwv;B—-1:C—-1u1;D-m
2. #

A-1m;B—-1,C—-iv;D-1u
3.0%

A—-1w:B-1m:C—1:D-1u
4. %



